(______________________________________________)

школа, прізвище ім’я учасника

Відповіді до завдань надсилати за адресою  Halyna_Lisnyk@ukr.net
Task 1. Decide which answer (A, B, C or D) best fits each space.

Ann Johnson - A confidential report
Ann Johnson has worked at this college for three years. She is a (1) A



employee, and (2)
on well with the other members of the department. We have all found her to be an excellent (3)
She has always been (4)…………………
for her lessons, and is an extremely (5)
member of staff who is able to work independently. I can always (6)
on her to organize the end of term play, and she has put on some extremely (7)
productions. Her students often tell me how (8)…………………………he is, always ready with a smile, and she has been very (9)……………..............to many of them. In (10)
…………………she is not very talkative and seems rather (11)
at first, and might not show her true (12)……………
in an interview. Her work is excellent, and she is (13)
to succeed. She is also quite (14)…………………, and has applied for two other positions as Director of Studies. I think that you can count (15)…………………. to make your school a success, and I recommend her for the post of Director.

	1) A conscientious
2) A goes
3) A colleague
4) A times
5) A greedy
6) A request
7) A imaginary
8) A tempered
9) A kind
10) A first
11) A but
12) A person
13) A used
14) A obedient
15) A on

	B conscience
B carries
B adult
B late
B reliable
B concentrate
B imagination
B cheerful
B aggressive
B times
B shy
B behaviour
B determined
B disappointed
B for
	C consciousness
C gets
C employer
C hourly
C stubborn
C take
C imaginative
C frank
C polite
C usual

C however

C character

C had
C grateful
C with
	D conscious 

D likes 

D fellow 

D punctual 

D lazy 

D rely 

D imagined 

D proud 

D mean 

D private 

D alone 

D part 

D supposed

D ambitious 

D to


Task 2. Put a circle around the number next to each correct answer.


I. At any ocean beach you can see the water rise up towards high tide. Something is pulling the water up. We now know that the moon is doing the pulling. How can it pull? We call the pull gravitation. All matter everywhere pulls all other matter everywhere. The bigger the object, the greater the pull. The moon is big enough to pull the earth, and it pulls the water on the earth. The moon pulls the water facing the moon. When you see high tide, you know that the moon is pulling the water up.


A. When you drop something, and it falls to the ground, it falls because of -

1. the moon.

2. gravitation.

3. its size.

4. the sun.

B. High tide is caused by - 

1. gravitation.

2. all matter everywhere.

3. the earth.

4. the water.

C. The moon pulls -

1. all matter.

2. water only.

3. the earth only.

4. the tides.

D. If the earth did not spin, -

1. there would be no tides.

2. the moon would not pull the water.

3. the earth would not pull the moon.

4. there would be no gravitation.

II. The sun also pulls the earth. However, the sun is much farther away from the earth than the moon, and so the pull, that is, the gravitation, is less. Sometimes, the sun and the moon pull together on the same side of the earth. Then, the high tide is very high, indeed.

A. The pull of the sun on the earth is called - 

1. tides.

2. high tide.

3. gravitation.

4. pulling together.

B. When there is a very high tide, the sun and the moon are -

1. on opposite sides of the earth.

2. on the same side of the earth.

3. near to each other.

4. farther away than at other times.

C. The sun pulls the earth less than the moon because -

1. it is so large.

2. it is farther away than the moon.

3. the sun and the moon have no water.

4. it is on the opposite side of the earth from the moon.

D. At low tide, -

1. the water is piling up somewhere else.

2. the sun is much farther away.

3. the sun and the moon are not pulling together.

4. the sun and the moon are on the same side of the earth.

III. Why does oil not mix well with water? We know that water mixes well with water. If you add hot water to cold water, you soon have lukewarm water. Alcohol, too, mixes well with water. Alcohol and water are quite similar. Water is composed of oxygen and hydrogen, whereas alcohol is composed of oxygen, hydrogen, and carbon. Why do oil and water not mix well? The reason is that they are not similar. The molecules of water, that is, the tiny pieces of water that include oxygen and hydrogen, are very small, whereas the molecules of oil are, by comparison, enormous and very different in their composition.


A. Water molecules include -

1. oxygen and hydrogen.

2. oxygen, hydrogen, and carbon.

3. tiny pieces of water.

4. both hot and cold molecules.

B. The molecules of alcohol -

1. are enormous.

2. are similar to oil.

3. mix well with water.

4. contain only oxygen and hydrogen.

C. Oil and water do not mix well because - 

1. they are similar in composition.

2. water has big molecules.

3. they are both composed of oxygen and hydrogen.

4. their molecules are very different.

D. A molecule of water is -

1. bigger than a molecule of oil

2. composed of oxygen, hydrogen, and carbon.

3. similar to a molecule of oil.

4. a very small piece of water.


IV. From where does a flower get its smell? It gets its smell from an oil that the plant produces. The oil is volatile. Long ago, volatile meant flying. The oil seems to be flying, for it escapes into the air. Insects that smell the oil fly to the flower, where they leave behind them the pollen that the flower needs to grow seeds. Some plants do not need insects to bring pollen. They depend on the wind to bring it. These plants usually have little smell or no smell at all.

A. Something that is volatile -

1. is carried on wings.

2. leaves pollen.

3. is necessary for seed growth.

4. escapes into the air.

B. This story is mainly about -

1. the smell of flowers.

2. insects that fly to flowers.

3. how flowers get pollen.

4. volatile oils.

C. Flowers with little smell or no smell at all -

1. need insects to bring pollen to them.

2. depend on volatile oils.

3. depend on the wind to bring pollen to them.

4. do not need pollen.

D. Insects in the story are attracted to a flower by -

1. pollen.

2. wind.

3. volatile oil.

4. the beauty of the flower.


V. There are several birds, once common, that have died out in the last few hundred years, so that now not one of them exists. The dodo was quite common on the island of Mauritius 300 years ago, but there is not one alive today. It was easy prey to animals new to the island, because it could not fly on its small wings. In New Zealand there used to be birds called moas, which were twice as high as the biggest man. They have all died out. The great auk, which used to come in thousands to the shores of Newfoundland, is another bird that has died out in the last few hundred years.


A. This story is mainly about -

1. animals that have died out.

2. birds that have died out.

3. why birds have died out.

4. where birds that have died out lived.

B. The dodo died out because -

1. of its size.

2. it was new to the island of Mauritius.

3. it was common on the island of Mauritius.

4. it was easy prey to animals new to the island.

C. The great auk was -

1. a bird.

2. a kind of dodo.

3. a kind of moa.

4. a bird with small wings.

D. Moas were -

1. about two feet tall.

2. about five feet tall.

3. about twelve or fourteen feet tall.

4. about twenty feet tall.

Task 3.  Complete this news report with a, an, one, the or no article (-).

John Millar, who lives near (l)..............Stirling in (2)..................central Scotland, thought he had found (3)...................bargain when he bought (4).................Volkswagen for just (5)..................thousand, (6)................. hundred and sixty-five pounds at (7)................auction in (8)...................April this year. Everything was fine for about (9)………......month, then (10)................day, (11).................car just stopped. John took it to (12)……........local garage where (13)………......mechanic thought there was (14)……........problem with (15)………......petrol supply. He was really surprised when he discovered (16)……….......source of (17).................problem. He had to remove (18)……........large, tightly-sealed plastic bag from (19)................ petrol tank. Inside (20)................bag was (21)……….......wad of (22)..................hundred pound notes. It amounted to fifteen thousand pounds. Suddenly, (23)...............Volkswagen was (24)................even bigger bargain than John had imagined. But John is (25).................honest Scot and he reported his discovery to (26)........................police. They are now trying to find (27)......................car's previous owner because they want to know where (28)......................money came from and why it was hidden. John is waiting patiently and hoping that it will eventually be his. When that happens, he won't have to worry about (29)............................... money for (30).............................petrol for quite some time.

